SAP ABAP table NVVP {IS-H: Patient-related insurance relationship}

KNAl

NVVP-SZDEB = KNAT-KUNNR 1°N MANDT [CLNT (3)]

-7 KUNNR [CHAR (10)]

‘ NADR
/ NWP'ADNAG, - NADR-ADRER - - [MANDT [CLNT (3)]
K -7 ADRNR [CHAR (10)]

ADROB [CHAR (4)]

—
\
\
\

NGPA
MANDT [CLNT (3)]
~ - GPART [CHAR (10)]

,_\\
\
\
|
|
|
|
1
|
|
|
|
|
|
o
Z

L NPAT
_______ R 9. | MANDT [CLNT (3)]
SRS - PATNR [CHAR (10)]

1~ NVVP-AGLAN = T005-LAND1 ¢ T000
N MANDT [CLNT (3)]
\1\ ST - -~
~_ NVVP-VERLA = TO05-LAND1 =~
S 0.N [ T005
b DR E 0. N | MANDT [CLNT (3)]
.~ _ NVVPVERNA = T005-LAND1  0-
N . | LANDL [CHAR (3)]
. NVVPVERV\; — TNVVA-VERVA
N TNVVA

. MANDT [CLNT (3)]
________ 0..N ['VERVA [CHAR (1)]




